E @é/ /@ YeThIpE APOOH, NECATUUHBIE APOOH, OPAIOK

oreparmii o CKOOKaMu

Nmst: Jata:_ OneHka:
(%—5,3)x3—%= 5—3(%—4,5)=

(%—5,3)X5+%= %x12+3—4(%—5,9)=
6(2,3—%)+3><2+5,6= 4(§—§)+2x5—4,5=

%—4(§—§)= 10(%+4,8)+2><2+§=
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’ = < 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
E @§> & onei:)aunﬁ CO CKOOKaMH )

Vmst: Jlata: _ Orenka:
(%—5,3)x3—%=(—%)=(—15%) 5- 3(-—45)—32—5—17%

(;—53) 5+1:(_Q) (23) %xu 3 4(——59)=1—;8-—23§
6(23——) 3x2+5, 6—%—14% 4(%—§)+2x5—4,5=(—1_61)=(—12)
%—4(§—§)=T—9=3% 10( +4,8)+2x 2+ % %zso%
RECRE R §H6.9- 9 5 -

www.snowmath.com


https://www.snowmath.com

